Type some Sage code below and press Evaluate.

1 var('x,p")

assume(x>0)

assume(p>0)

tcu = simplify(px(x*p”2)”3/sqrt(p*xx~2)-1/sqrt(p))
show(tcu)

show(factor(tcu))

S U EsE WN

Evaluate

pra’— —




‘ sorkilies X 2, L1?'¢ I

o5 B Zi:“zer = [(

Q6 s

———— —

AR R ACS
R AN -
h /m&)u@r cos ) fm(ﬁ)]

I . )
Cos (ﬂ’+'5> = Qsév) cos® — SM(A)}’M@)_

Sfem 4)= A S;v\(ff)@?m
N\

/Cbs ()= Co5 (A) ~ s (fr)




- —

sinG®) 25Ol _ 9,566 sie

"T’c’:;ﬁ' (6‘) - cns /f,\é -

:@] ~Q(t L wse)

- F"r(‘.os (26)

O 2 Cos D +) Snb oslG

5 cos ( 29)

S (Q o5

——

OJ‘CH(*(LU\( @> W‘e whose. '{"om 9 ( J_B

.

0

}T\\: mﬁ%,sl&ag@%@:

-
S‘} q = ~T e &lf\Cﬁlt’\é / i
Q(b[lc" + - 2






